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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
1. releases data of money supply in India. 1
(Choose the correct option to fill in the blank)

(A)  Corporation Bank

(B) Reserve Bank of India

(C) Commercial Banks

(D) State Bank of India

2. Marginal Propensity to Consume (MPC) exhibits the slope of
function. (Choose the correct option to fill in the blank) 1
(A) Saving
(B) Consumption
(C)  Production
(D) Cost
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3UTeY G Rl ST hLd §C, Fferfiad arfetent st qur hifo ;
@& fasheq &1 =g Fifs)

2014 — 2015 | 2016 — 2017
fse GDP 65 9

Jredfash GDP ow 7.2
GDP 39&hIfdshieh 100 ().

forepea

(A) 125, 100 (B) 125,110
(C) 65,125 (D) 100,65

WW,WW%&TW%:
C=205+09Y % (I8 C =% IUHIT AR Y = TN 311)
T ok (K) 1 gt &I |
(Feeh T s = fore @i forered =1 = ifs)

(A 0-09 (B) 100
€ 09 (D) 90

refcTRa shorl =t eaYeish JTea I ;

FYF 1 FA 0 GHH T W, el g2 st hied 3R geehl 71 o sft< S
HaY 2 |
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fau T sherT o 3TTedies |, Ffefaa # @ get foshed o1 == hifsie

(A) FIT 1T IR FHIT 2 JAGT ¢ |
(B) ¥ 1WA EIRNFIT2 IR |
(C) HIT 13M2IAN AL |

(D) HYA 1 FAR 2 S FAAAE |
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3. Using the given information, complete the following table : 1
(Choose the correct option)

2014 — 2015 | 2016 — 2017
Nominal GDP 6-5 9
Real GDP (D). 7-2

GDP deflator 100 ..(i)...
Options :
(A) 125,100 (B) 125,110
(C) 65,125 (D) 100, 6-5

4, Suppose, the consumption function is given as : 1

C =205+ 09Y (where C = Total Consumption and Y = National Income)
The value of Investment Multiplier (K) would be
(Choose the correct option to fill in the blank)

(A) 0-09 (B) 100
C) 09 (D) 90
5. Read the following statements carefully : 1
Statement 1: Keeping other things constant, there exists positive
correlation between the price of foreign exchange and its
demand.
Statement 2 : The foreign exchange rate indicates a country’s

purchasing power in international markets.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.
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6.  HIRIT oAl T AT LI HITST :

FIT1 : G TSN G © qeod, Fesd ok g @R Siafeai (G-Sec)
ERIEERE R

FIF2 :  HA A H FH FA 6 [AC, Fs S Afvicass sl o awrl
sfcrfoat forsher s |

e T Tt o aATetes W, FAfiiad # @ gt faened o1 =9 il

(A) FUT 19T 8 AN FHIT 2 I 2 |

(B) U 1AL AN FHAT 2 AR |

(C) &I 13R23IA G E |

(D) %A 1R 2 3H TS |

7. aforfoueh sehl ST ARG G<Teh el SITT §, T ;

GEACEICCARCRE A 1Y
(A) o HE oo | it s a8 |
(B) 3o NI Y& SROT STHT T3 3c0~ hid & |
(C) o TR & ool o &9 H S Ld ¢ |
(D) 9 3refeaEyT H 0T & o g s 2 |
8.  Ueh @i IY o S, Tfeaeer § Ty =5 i & B9 | off ST
ST g |
(e =™ 9 & ToTe ot ferehed o1 =3 ifso)
(A) @ FHas
(B) wwmqfd
(C) EETHM
(D) uf@ e
9. iR srdvme ¥ 45° W@ 6T T T LT 2 |
(Feeh T s = fore wieh forered &1 = ifTg)
(A) A > 99T
(B) &ud > fi=wr
(C) 3UANT > 3™
(D) 3™ = START
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6. Read the following statements carefully : 1

Statement 1: Open Market Operations refers to purchase/sale of
Government Securities (G-Sec) by the Central Bank.

Statement 2 : To decrease money supply, Central Bank will sell the
Government Securities to commercial banks.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
7. Commercial banks are regarded as money creators because : 1
(Choose the correct option)
(A)  they purchase securities from the Central Bank.
(B)  loans provided by them create deposits.
(C) they act as a banker to the government.

(D)  they regulate the lending rate in the economy.

8. Aggregate expenditure in the economy during an accounting year is also
known as . (Choose the correct option to fill in the blank) 1

(A)  Autonomous investment
(B)  Aggregate supply
(C)  Aggregate demand

(D) Induced investment

9. The 45° line in Keynesian economics indicates . 1

(Choose the correct option to fill in the blank)

(A) Income > Consumption
(B)  Savings > Investments
(C)  Consumption > Income

(D) Income = Consumption
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10. HfRad et — 3o (A) SIRHROT (R) 1 SAMYEeh Heqed hifsg | = fag

U forehedt B O G forshed o1 w99 hifsTe 1
AfypyT (A) Tt TRl Suet grr foeeft sufat = qem it SW el g
(shipping) el &I YA Hde (BOP) % <Te] @id H &t fohaT

ST |
FRT (R) : WA Eqe (BOP) T =1e] WIAT W o e i aferdf=i
7 AT ot feufa § fteda T&i shar 2 |

%IT:WCI:

(A) IR (A) T HROT (R) SHT T @ 3R R0 (R), 3THaH (A) il g1
TS |

(B) 3R (A) 3T RO (R) SHT T &, Al hIOT (R), IR (A) il Tl
STEATTE = |

(C)  3AMHRIT (A) T =, Wfohd RO (R) IR |
(D) IR (A) 3 =, AR T (R) I 8 |

11. (&) S f9fY g U 1™ 1 Aehe SRd 98 St ST aTef! fohel

GIaETET ohl STARIA ShIfSTT o THATSY | 3
7T
@) FfTRad sttergt & fsrehl” o qet =l TorHT Shifer 3
# i e
q& (TAGH)
(i) | 3UeH 300
(1) | ST AT 600
(iii) | IR Eiew 120
(iv) | sifm == 520
(v) | Teged] SUHnT 2,900
(vi) | TeeR GSit =T 3w 600
(vii) | 700
(viil) | ETEE AW WY& 9 I (NVApe) 2,200
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10. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1

Assertion (A) : Shipping service provided by an Indian company to

foreign companies will be recorded in current account of
Balance of Payments (BOP).

Reason (R): Current account of Balance of Payments (BOP) does not
alter the status of the asset or liabilities of the residents of
India.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
11. (a) State and explain any two precautions that must be taken while
estimating national income by production method/output method. 3
OR
(b)  Calculate the value of ‘Sales’ from the following data : 3
S. No. Particulars .Amount
(in < lakh)
(1) Subsidies 300
(i) Operating surplus 600
(iii) | Opening stock 120
(iv) | Closing stock 520
(v) Intermediate consumption 2,900
(vi) | Consumption of fixed capital 600
(vii) | Profits 700
(viii) | Net Value Added at Factor Cost (NVAgc) 2,200
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12. = few g fom & quiie o, shsfiar S o foret uen o shl ue= shifsie o gwese 3

T :  HEIREd S9H Fad giveartara qaeTieral & 1o7q yo4 G 12 % T W e |

eI soh o foret Teh ol <Y =T hifST | 3
13. (&) “Torell srelowaeern ° YAk wHy AT (AD), SATRIG €97 4fd (AS) ¥ ik
N
21 g Reafa & 3T, TSR o 31T 9= ETferd TTe shi sIRed shifsru | 3
(@) ITCUHNT T IR i | 1
14. et srefeemen 0 ruehifaerl faua it Ruafa 1 & =@ ¥ aifsla sTavgsand
I T BT § |7
feu T e &, T qent wfed st fag Hifse | 4
15, () ()  9TdH UqeH 9 AR Ede | e ifsm | 3
(i) <ol @A AT hl GRTied hifsry | 1
AT
@) ()  3UgFd IS H WM Fd 8Y, Teag faaeht fawr (FDD) 7 faaeht
GEATTA T3a9T (FII) § 3T T i | 3
(i1) ﬁﬁ @Id & 92 o &9 H faevft ¥er™ar (External Assistance) &
et weh a1 AT Seoig I | 1

[=] %]
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12. Identify and explain any one function of Central Bank as indicated in the
image given below : 3

FUNCTIONS OF RESERVE BANK OF INDIA

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12.
Explain any one function of Central Bank. 3

13. (a) “In an economy, ex-ante Aggregate Demand (AD) is more than
ex-ante Aggregate Supply (AS).”
Explain the likely impact of the given situation on output,
employment and income. 3

(b) Define deficient demand 1

14. “Margin requirements are extremely helpful in correcting the situation of
deflationary gap in an economy”.

Justify the given statement with valid arguments. 4
15. (a) (1) Distinguish between Balance of Payments and Balance of
Trade. 3
(ii))  Define Current Account Surplus. 1
OR

(b) (D) Using suitable example, distinguish between Foreign Direct
Investments (FDI) and Foreign Institutional Investments

(FII). 3
(i1)  State one example of External Assistance as a component of
capital account. 1

58/7/3 # 11| Page gﬁ P.T.O.
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17.

freafefaa mar wldqc\o?oh ST

HEIT TSIE 2025-26 H G&H, T o HeAH I8 (MSME) &5 1 99§ oM % 3639 §
3 U T4 T U & | 78 Y, FrermT o FRia o wrer-erer wRd Sl forsh AT H
MSME I iR %! T S 35 o &9 H A=3a1 odT 8 |

R o e aNeed § T eyl IReHeRdl & &9 § MSME &, fafmf &7,
il o TSR it § Hewrqol fiysht Fwrd € |

AT ST TGEHI T I3 AT ohl FTcaTied ohich, STaeqaiciehdl § gig Fieh T
HHTEHT T S8 U5 Y- Teed ek, Tk U3¢ 1 T (AT AT & |

S JTATIT 3TH USIR0T qieed, PM fawashut, PMEGP, SFURTI d9T @asii-eh

T it St SRR T frem™ qgai 4 MSMEs o1 Ushishd o €Ted T hl fGemm §
Teh €Y T 1 TS RId T S @ g |

e T T T w9 I o IR R AAfeRad Tt o ST AN

(#F) “MSMEs 9Rd 3 foehe Im § Hewqul it v & 17 @ 319 feg e
T Y HEHA & ? 3T I o GHEA H W deh S hIfSIY |

(@ MSMEs %l @& & (¢ @R gRI ISTT T Y90G 39T 3 e
EAEI

@) () O T Hed U ST § FH A & 17
1 3 {4 7Y o 8 HEAd & ? U I o G0 H =T doh T&d
hifs |
(i)  IUYHI ISR Hied, GTcHe SIS o RUMcHS ARG H 3T
TR AT |
YT
@) () U fg-2mek srefeaeen H, Teeell SR foham T SUMRT S wed wAT

ST ScaTad AT o el o gl 55 o SRR BT @ |”
FIT 31T T 7T FoH U TEHT & 2 9 ST o G § S8 ey <ifsie |

(i)  “GIEd TUMT GHEAT o FROT FoRElt STefeaee H 3eqTe i STIHM fh
AT |”
U ITELTT shl HETIAT W, € 7 e 1 Hifwiey forg e |
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16. Read the following text carefully :

The Union Budget 2025-26 introduces a series of measures aimed at
strengthening the Micro, Small and Medium Enterprises (MSME) sector.

It recognises the role of MSMEs as one of the key engines in India’s
journey of development, along with agriculture, investment and exports.

As a vital contributor to India’s industrial landscape, the MSME
sector plays a crucial role in manufacturing sector, exports and
employment generation.

The new budgetary provisions aim to build on this strong foundation
by fostering innovation, enhancing competitiveness and ensuring better
access to resources.

Furthermore, the Government’s ongoing initiatives like Udyam
registration portal, PM Vishwakarma, PMEGP, SFURTI, and the Public
Procurement Policy continue to demonstrate a combined effort towards
integrating and empowering MSMEs.

On the basis of given text and common understanding, answer the
following questions :
(a) “MSMEs play a pivotal role in the India’s journey of development
Do you agree with the given statement ?” Give valid reason in
support of your answer. 3
(b) Explain key measures initiated by the Government for
strengthening MSMEs. 3
17. (a) (1) “Domestic income is always less than national income.”
Do you agree with the given statement ? Support your
answer with valid arguments. 3
(i1)  Distinguish between positive externalities and negative
externalities with suitable examples. 3
OR
(b)y (1) “In a two-sector economy, consumption expenditure by
households is always equal to aggregate expenditure on
goods and services produced by the firms.”
Do you agree with the given statement ? Support your
answer with valid explanation. 3
(ii)  “Problem of Double Counting leads to overestimation of
output in an economy.”
Justify the given statement with the help of suitable
example. 3
EEE
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LCLCRC)

are aArfefer farermar
18. SR Farehl H € T &, T oifered ™, Wi o =9 € S7oft 2 |
(Fear T s o fore wiet fashey o1 = hifsTo)
(A) sl (B) WSHE
(C) SHEEAT I (D)  ifireR S1aTd
19. &5 o [oRT o ShIXUT, BT o ol H, WIRd § SITer YT9vy sigd |2red 81 718 ¢ |
(Fear o s o fore wit fashea o1 == SifsTo)
A HW (B)  3cUmed
(C) e shenfrRr (D) Famfor
20. SRUSTTRY # foreft 2ifireh st €wid Scarashel T o SRR &Id1 & |
(Fear T 3 o fotu Bt forehed =t =R AifSTo)
(A) it (B) € EATH®
(C) Ff=z= (D) =&
21.  EAM IS fof, Freferiad o @ spiF-H wiifceh JSit 31 Tk foRIvdT 787 8 |
(@t faehed =1 = i)
(i)  TAT (Tangibility)
(i) SR IFAT (Tradability)
(iii)  ReR@T (Immobility)
frerea
(A) (@) I3\ (B) (1) 9 (ii1)
(C) (@) d(@i) (D) (@), (i) = (iii)
22. TR ZN FEifd =—as anelq 977 (MSP) %1 qeg awreff BT e |
(Feh o s o foru wet farshed ot =@ ShifsTo)
(A Tel (B)  SuMe
(C) AT (sha) (D) FH
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SECTION B
Indian Economic Development

18. is one of the demographic indicators in which Pakistan is
ahead of India and China. 1
(Choose the correct option to fill in the blank)
(A)  Urbanisation (B)  Fertility rate
(C)  Population density (D) Sex ratio
19. Outsourcing from India has become more intensified in recent times due
to the expansion of the sector. 1
(Choose the correct option to fill in the blank)
(A)  Agriculture (B) Manufacturing
(C) Information Technology (D)  Construction
20. Under unemployment the marginal productivity of a worker
is equal to zero. 1
(Choose the correct option to fill in the blank)
(A) Seasonal (B)  Structural
(C) Involuntary (D) Disguised
21. Identify, which of the following is not a feature of physical capital. 1
(Choose the correct option)
(i)  Tangibility
(i1))  Tradability
(iii)) Immobility
Options :
(A) (1) and (ii) (B) (i) and (iii)
(C) (1) and (iii) (D) (D), (i1) and (iii)
22. Prime beneficiary of the Minimum Support Price (MSP) fixed by the
government is . 1
(Choose the correct option to fill in the blank)
(A) Labourer (B) Consumer
(C)  Trader (Buyer) (D) Farmer
58/7/3 # 15| Page g@g P.T.O.



23.  HM SIS fop, forelt atefeeraeen o fHarfia ikl <l qorT W STTehfweh #iftehi o Wfdra
Fafg et g
=g fufd sl e o &9 | STHT ST HehdT 2 |
(Feara T A & foTe Bt farsred a1 = hifsTo)
G)  SNuEmiEr
(11) AR (casualisation)
(iii)  SRISETHY
%Wq:
(A) (1) 3 (i) (B) (i) 3R (iii)
(C)  ad (ii) (D) e (i)
24.  STYFEHIEHT T Tewequl AT FHaeH Seea 8, st T ehf~5d Bl € |
(Fera T Y & foTe Bt forsred o1 == hifsio)
G) T enfeh o A
(i)  HTHTISIh GIEehHIVT B HehRIcHeh TN o
(i) A 9 Guid o G farawor
(iv)  Torfer o 3o
%Wq:
(A () 3R (iv) (B) (i) 3R (iii)
(C) (i), (ii) 3R (iv) (D) () AR (i)
25. BT H, MG A &5 F ATl wEl § § G o Rt e st wster
g T oht off | (Feara o s o fore wiet s o1 = hifsTo)
(A) SAARC B) G8
(C) ASEAN (D) G20
26. fordt oft SrefcyeTen § USHIR & MU=l &F ¥ G&fd srgeg fosiwar i ve==
e |
CHAEETREIEPEEAISIY
(A)  USTTR geed (B) WIS GUaf s
(C) AR s (D) fR=a R
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23. Suppose the percentage of casual workers rises in an economy as
compared to the regular workers.
This situation may be known as of workforce. 1
(Choose the correct option to fill in the blank)
(1) Formalisation
(ii))  Casualisation
(iii)) Unemployment
Options :
(A) (1) and (ii) (B) (i) and (iii)
(C)  only (ii) (D)  only (i)
24. Modernization is an important economic planning objective that focuses
on . 1
(Choose the correct option to fill in the blank)
(1) Adoption of innovative technology
(ii)  Bringing positive change in social outlook
(iii) Equal distribution of income and wealth
(iv)  Abolition of intermediaries
Options :
(A) (i) and (iv) (B) (1) and (iii)
(C) (), (iii) and (iv) (D) (1) and (i1)
25. Recently, India hosted and chaired the summit of one of the
regional and economic groupings. 1
(Choose the correct option to fill in the blank)
(A) SAARC (B) G8
(C) ASEAN (D) G20
26. Identify, the incorrect feature associated with the formal sector of
employment in any economy. 1
(Choose the correct option)
(A)  Job security (B)  Social security benefits
(C)  Irregular payments (D) Fixed working hours
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27.  TIFIRIT oAl T SATYE LI hITSTT :
HYF ] ;A S o A1 TGN ol HHEAT oh FHTEH B WA TTHT A sl Fgyor
=T € (CPCB) 3l TomaAT il off |
FYgT 2 : aﬁﬁmﬁwﬁﬁaﬁ (indigenous forests) 1 TR oM BT 2 |
fau T sheMT o 3TTedies |, Ffefad § @ get foehed o1 == hifsie
(A) FHIT 1TT 8 IRNFHIT2 AT R |
(B) I 1IFIEINFAT2TITR |
(C) T 132N TTE |
(D) T 132 A TR |
28. AR TEUT FFRT (MNCs) % fIC WRA S&I Y90 (outsourcing) % foig
T ST e o TR |
J4 den! gfed fou T s o e fag fifsia |
29. (F) “ohs fIREAT w1 AT & T, v 7 faifer iRt % fog saeht qiwen
TN THL g WRI hFd TS 8 17
foreft weh e ek g fow e e aht S firg ifste |
AT
@) fafesr e & SR IRd | HErEt i e 1 ST Jed i
Fifsre |
30. (%) 1950 — 1990 o WeA TTH I o TLEUT o HefeiH o [oTq R TN gRT 331
T fohegl 3T ShaHT T 3ol I ST ShiTSIT |
AT
(@) AN Sl AISHT AT % G BT & H HEANTT GUR & &9 4 i TREtad i
VTR ST foRar & auf ShifTT |
31. TRrem 9 wree &A1 § [T YRR o SERRT SRaaTT ol STawIeRdT o 98 § o Td
EIE I
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27. Read the following statements carefully :

Statement 1: In order to address the problem of water and air
pollution in India, the Government of India had
established the Central Pollution Control Board (CPCB).

Statement 2 : Deforestation leads to the permanent destruction of
indigenous forests.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

28. “India has become a favourable destination of outsourcing for most of the

Multinational Companies (MNCs).”

Justify the given statement with valid arguments.

29. (a) “Many economists believe that India paid a very heavy price for
the British industrialisation, by becoming their feeder economy.”
Justify the given statement with any one valid argument.
OR
(b)  Critically appraise, infrastructural development in India during
the British rule.
30. (a) State and explain any two steps undertaken by the Government of
India for the protection and promotion of Small-scale Industries
between 1950 — 1990.
OR
(b)  Elaborate the role of land ceiling as an institutional reform in
agricultural sector during the planning period of India.
31. Argue in favour of the need for different forms of government
intervention in education and health sectors.
EEE
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32. 9N H TSR o foraor § weiferd frefctRaa Siepl sl ot o fergersor hifsrg -

faf &=t § Tomm @ freor (qEw-nfzem)
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fow TTa e o1 e g s g g hifs |
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32. Compare and analyse the following information related to distribution of
employment in India :

Y

N

100

B o
o o O

Percentage

DO
o

Distribution of Employment (Male-Female)
XY

in Different Sectors

xxxxxxxxx
xxxxxxxxxxxxxxxxxxx

xxxxxxxxx

xxxxxxxxxx

oo KX
. 1894

B Primary Sector

00 L7:7%
%26-5% / Secondary Sector
e Tertiary Sector

57-1%
40-7T%

X

Male Workers  Female Workers

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 32.

“Compared to urban women, more rural women are found working.”
Justify the given statement with valid explanation.

33. (a) (@)

(i1)

o) @

(i1)

Explain any two similar developmental strategies followed by
India and Pakistan in post 1947 era.

State and discuss any two reasons for slow economic growth
in Pakistan.

OR

“China used the tool of Special Economic Zones for its
economic development very effectively.”
Justify the given statement with valid explanation.

Mention and discuss any two indicators of human
development, where China has performed well.
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34.

Read the following text carefully :

The National-Level Multi-State Cooperative Society recently
approved by the Union Cabinet for promoting organic production and
exports, will help the farmers to increase their income manifold.

The arrangements for testing of land and selection of natural form of
products will be set up in each district in the coming five years.

Government has also decided to setup a cooperative society in all
Panchayats, which will ensure that the Central Government’s schemes
reach the farmers.

Wide use of urea has spoiled farm land, and lakhs of farmers have
moved towards organic farming.

To get better prices, there is a need for marketing and certification
of such produce. Furthermore, steps must be taken to ensure that fake
organic products do not hit the market.

On the basis of given text and common understanding, answer the
following questions :

(a)  Define organic farming.

(b)  State any two benefits of organic farming.

(c) Explain the steps taken by the government to promote organic
products.

58/7/3

# 23| Page

EEE
s



